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 10 ml 0.2M__ is added to 1L 0.2 M acetate buffer with pH 4.75. What will the new pH 

be?  

Solution 

 1) If 10 ml 0.2M is Base (for example NaOH), than  

pH = pKa + log⁡(
Base

Acid
) 

n=C∙V 

n(NaOH)=0.2𝑀 ∙ 0.01𝐿 = 0.002⁡mol of⁡OH−⁡ions into the solution. 

 An acetate buffer is acetic acid and sodium acetate. If [acetic acid] = [sodium acetate] in 

buffer solution, than pH= pKa. 

 The concentration of CH3COOH would change from 0.2 M to 0.198 M and the 

concentration of CH3COO- would change from 0.2 M to 0.202 M. 

pH = 4.75 + log (
0.202

0.198
) = 4.759 ≈ 4.76 

 2) If 10 ml 0.2M is Acid, than the concentration of CH3COOH would change from 0.2 M 

to 0.202 M and the concentration of CH3COO- would change from 0.2 M to 0.198 M.  

 And pH=4.75 + 𝑙𝑜𝑔 (
0.198

0.202
) = 4.741 

Answer 

New pH=4.76 or 4.741. 


